Unit 4 Part 2 Rational Expressions Exam Review Unit 4 Part 2 Review

Directions: Sketch Ihe asymplotes and the graph of each function. Identify the domaln and the range.
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Directions: Find polnts Q_Ld_lswty, the domain, and x- and y-intercepts of each rational function.
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Simplify, State any restrictions on the varlables. o
2 , 2 i
sy X %07 L, AdeBd _ 4A(HR) 2 (4tR)
lO,Ij)‘ ?_ 3 X! ) . 2d ~ _9.0‘/
sylv£od $4I M?E
X A9x+18 _ (x+b)(x#3) A -2x-8 x-4 _ (X-4)(X7)  Xt3
x+6 - xt+e Xt3 i x+3  x+3  x+3 "x-‘/ - Afd
SXlxrRE | gx/x/—s,%
lo Ix+1 +6_x2+11x+3 - X410 . (3x+15)(2)‘f§) n 3x‘__x3_2x2 - x"(&xa-—x"-l)
"X -x-6 x+4x+4 T (k=37 (x+3) 6x' =2x-4 m} = x>
yx+a)* X4 R RPN =
( 3%+ _ " Py
3x+21£ X%~

SRED () (R4 3)  (x3)ant 3) x(x-8
g x|XP %" 33 0F 02

2
5,18

12 2:* +5x=3 2x'-8x" _  (aX- -(Xt3)  3x (X“l) 13, X A3x+2 1-X  _ (RERUXH) | —(x-)

P —dx X +6x+9 % (%) (x+3) 2 x=1  x+2 x-1 XF A
= Ax(ax-), = (X+1)
X+3 )
SX[X# =%
£ Xt -3 6,4] $x 1 5

!

——

Scanned by CamScanner

Scanned by CamScanner



Simplity each sum or difference. State cny rest
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Check each solution.
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Solve each equation,
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. It whuld take an apprentice house painter 1.5 h longer than his supervisor to paint an apartment.

f they work together, they can complete

prentice to complete the job working alone? Round your answer to the nearest tenth of an

hoby.
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Xn complete the job in 7.75 h. How long
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‘aster roofer can cover a garage in 1 h less than her new assistant. If they work together, they

rictlons on the varlables.
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the jeb in 4 h. About how long would it take the

would it take the assistant to complete the job working
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